Mastery Algebra 1

1. Find the slope of the line that passes
through the pair of points.
(3,-7) and (-2,-9)
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2. Put in slope-intercept form and state
the slope and y-intercept.
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Chapter 5 Review
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6. Write an equation for the line that is
parallel to the given line and passes
through the given point.
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7. Find the rate of change: A plant measures
4 ¢cm on day 1 and 15 cm on day 4
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3. Write an equation of a line with the
given slope and y-intercept.

8. Write the equation of the line in slope-
intercept form that passes through (9,-1)
and (7,5).

m=—t p=3 m=5-C) 6 -,
s T T
ST X 4 BJ Z7oX *"2,
177 5= -3(7) +b |
4. Use the slope and y-intercept to F=-2\ +b
graph the equation. Y\ A+
y:——5-x+4 \\A b ‘:'ZQ
3 9. Graph 4x-2y=6
5 ~Ys ot
7
¢} Pl 229 = -Yx +h ‘
. - -2 =
- “ ™
y = x—-3 ,-
L2 N
7
7
Vi

5. Graph the equation using x- and y-
intercepts.
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10. Write the equation of a line in slope-
intercept form perpendicular to
y =4x—1 passing through (12,-2).
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